EARAROBEEIERT — 2 N— IBISH —F

201749A308 (£) AEIBR+#H8H

Ll T oR2m B (RS)

Z=)

[($57E] Fikb

‘ [R1%] & ‘ [REBE] — | Z (%) 18000 B

[A~&£] 1 7% :7,000,000  ~ 23 :2,800,000 33 :1,800,000” 43 :1,100,000F ~ 5 j& :700,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. e M. FL—A 149. - . — REER (ER)
118111 TR Y XLY o2 54.0T 1(453)9 4-2 34.1 1 (530) FEFI
X THANAN BT RV TN J—=HrTp—L
L . HALBLT : - = BE— & (R
2 6 FoaATTA4 2y b 2 513_0 1.{520).2 1-1 34.4 11 (432) ;%:%%5 (F&H)
R:22-1)>j0-X B:4—-7F30> DO HMIG
SH S 4t 2 | FEHE 1:50.2 4-4 34.2| — 4 456 | BKAE (ER)
3/5/5 | *—NFTT—X %83.0 (NF) (=) | @) F¥royrT7—L
L=5—=29 7 B:ILASTTI— J=HFrTr—LI
> A o2 | EPR 1:50.2 2-2 34.4| — 9 456 | ELEE (RR)
4l8|10| 71T 54.0 (NF) () YA TLRR— N1 T RAARH
L:707% B:XFyT¥avh KIS
s oo | dtRiE— 1:50.4 10-10  [34.0| — 5 480 |tEAAR= (BR)
EH 7 h= 54.0 (1 1/4) (=) HIEEZ
LG4 RT—EY BiIF4> #Et /—Rex
0oy = i R 2 | MEEZ 1:50.5 8-8 4.2 — 2 =g (RR)
6l7/8|KZT14TAELR E 54.0° (3/4) ’ (416) &) #>7F-L—v>7
LN—E>Tv— B X2 FFIDR BRT7—L
R+ e s 2 | fEKA— 1:50.6 6-7 345 — 3 452 | KAREER (BR)
7E)3| VY FE/ET 540 (7€) Oy |08 mRA - AL—vry
AT =TI BEZ2T7NYavy HET7—L
A = o2 | AR 1:50.8 8-8 34.5| — 8 494 |MIAE (RR)
s 4| F77ANT 54.0 (1 1/8) ) |FotEE
LY LTAN=F BTN T KT 7 — L4
NN N HRFH— :50. - . — ARG (ER)
ol7] g | /82y - o2 s 1(750t§ 6-4 34.8 10 (430) i
LTA>T7Tya B:RU—LIN=IL e ]
. 2 | KE 1:51.3 1-11 34.3| — 6 462 | REETT (EX)
10[1[1|F 1> Rl v ® O |an_s-zenz
R:ANTz—JI B:5F¢1— #st /—Xex
S0 2 B : - - It (EXR)
1o | P/ ANF— #o2 | BE 1)517;;% 34 |35.3 7 (454) AL, (
LFA—TALNT N B A X T)RT 4 — FrlEF LR Ty —L
@ 21 L
£ 46.8-34.1
NA>24 L4 |13.0-11.9-12.3-12.8-13.1-12.7-11.1-11.2-11.8
® 1—F—@EBIERL
13—7F-
2ol=5"=
3a—+— |[6,10,2(5,11)(3,9) (4,8)7,1
ASl=5F= (x6,10,11) (2,5,9)3(4,8) 7-1
[ RN
B O 1" 230M 714K 6-11 4,200/ e E 6-8 1,1108 JEE 5-6-11 25,190/
# B 1 130H4 5-11 480M B E 6-11 15,950 JEH 11-6-5 176,380H
6 1,870M 5-6 5,840 B H 11-6 18,120
5 1909

ABICOVWTRDTEEERROODE. TR LIV,




